FETRALETL—b 50
SUSt=2gif T
2H7f .

SEE:St PLIARE IRy ¥ 1t EIFt=2.3

WHT 2T 7Y —M=1.2
PBL=125
WEAER=24

7’?»7’-77’\

ot — Pz

S482:St PLARE Ay * 1t EIf1=2.3
WETZATFIN—M=1.2

PBI-12.5 i SUSET LY

ERMEEAR K (5K —K)t=4.5!

RINZV=0+EPEE

5 5

1145

FTFNF—F 3 3109

o

o

|
|
|
St t=2.3¢1 ‘
|
|
|
|

43
35
T

AT L 16K3{L75

46.5 ‘
1,547
1,541

0.4 225 2

-/ 7
TIVI FB t=2 !
ﬁ%“/*l”#’{‘)ﬁﬂl‘/*%)

15

o ™
=
(=

1,876
1,790

30

E2:PBt=0.5+EPZ %% ~

10

40 | 285

B
~_\afi
15

120

1235

EAE

B
I

REHSY)
2TV UPEE

FRANZV=9+UPZE
WiEAER=24

E2:PBt=0.5+EPE %

SHEE R /IR A=21

FEERMEBERFR N (5 HFE—R)t=45

PBt=12.5
BET RTINS —M=1.2

St PLARERAv ¥ EIft=2.3

L (TR )
| —7ILIFB =2 ‘
|

Syp—
R L 15K3(L75 ‘\

|

|

s
Vaz
i

|

43
35
T

1.4|{4.5
13

Stt=2.381F |
FETFBALETL—R
SUSt=2HlF T 27

[ANEDOFR | et 28 560 X

S482:St PLARE Ay * 1t EIft=2.3
WET AT 7 —h=1.2
PBt=12.5
EEMERFR N (5 FA—F)t=4.5

[NEOFK] O7 74— FEfEAhT 2 &, 1,870mm i CHMEED S
750mRONH Ly PERA & 7z & X I B, M8l EIdE 2.3
mDAF—VTL— hORIZFTHIAZHATVWDL LI Ry vy —7
HEHEZS>TWE, AF—NVTL— MIFEEHA— FEERQTH -
PUCA Y TREE, T AIHEY — V&2l T TS5, T A,
V=, AF—=NTL— MBS RE o> THNZAIL TS,
FBHOMIE, HEO7ZDITEE AR T ) 23T T b,

5

10cm



